POSTAL STAGE 1“AWALK IN THE PARK”
You are on the way to a restaurant to meet somebody, but more about that later. It is a nice afternoon and you
decide to walk through the park. There is a couple searching frantically for their baby, but you have not seen
anything. Further on, you see the baby and a group of possible kidnappers who threaten you. Save the baby.

Start Position At position 1 (P1) with “baby” cradled in weak arm. Gun holstered.
At Start Signal Engage T1 and T2 strong hand only (on the move) while moving to P2. At P2 put “baby” down

safely behind cover and engage T3 and T4 in tactical priority, free style from behind cover. You may re-engage
T1and T2 from P2.

Shot Count Vickers, Two scored hits per target, Eight shots minimum

Supplies Four IDPA targets, one barricade and 4 side by side double stacked 55Gal barrels, or approximately
equal, one “baby”.

Set-Up Details All dimensions are keyed from the center line of the barrels, DOWN RANGE (OUT) towards
backstop and UP RANGE (BACK) away from backstop, and L and R from this center line (facing down range).
Distance is measured from side by side centerline of barrels. Target heights are not crucial; vary heights within
a normal range.

P1- BACK 10°, OVER L 10’

T1- OUT 10’, OVER L &’

T2- OUT 16, OVER L 1’, HARD COVER straight line top to bottom of target at outside edge of 9 o’clock
point of “down 0” zone

T3-OUT 18’, OVERR %’

T4- OUT 28’, Over R 10°, HARD COVER straight line top to bottom of target at outside edge of 3 o’clock
point of “down 0” zone

The barricade is used as needed to block T3 and T4 from view at P1.
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POSTAL STAGE 1“A WALK IN THE PARK”

P1- BACK 10’, OVER L 10’

T1- OUT 10’, OVER L 6’

T2- OUT 16, OVER L 1’, HARD COVER straight line top to bottom of target at outside edge of 9 o’clock
point of “down 0” zone

T3-OUT 18’, OVERR 5’

T4- OUT 28’, Over R 10°, HARD COVER straight line top to bottom of target at outside edge of 3 o’clock
point of “down 0” zone

The barricade is used as needed to block T3 and T4 from view at P1.
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